BSEH Practice Paper (March 2024)

CLASS: 12th (Sr. Secondary) Code: C
Roll No.

W faameT

CHEMISTRY

[Hindi and English Medium]
ACADEMIC / OPEN

[Time allowed: 3 hours] [Maximum Marks: 70]

o PUIT FARYT R & 57 ge7 97 # Flad yo5 d&gr # 21 &
IR sGH 35 g9 &/
Please make sure that the printed pages in this question
paper are 21 in number and it contains 35 questions.

o o7 GF & &3 3N 3V T Fis FFGY F BI7 GaRT FR-YIETHT
& Ggel gvo GV fel@r ST afev)
The Code No. on the right side of the question paper should

be written by the candidate on the front page of the answer-
book.
o [FH FoT FT 36X eI YF FNel & Ugel IHPI FHIF [o1GAT F1TT

Before beginning to answer a question, its Serial Number

must be written.
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o 3Gl I GIETH H Gloll Geadl/Toet T S35/

Don't leave blank page/pages in your answer-book.

o IN-YRETFT & IHIARFT @l g e g & oA I
HTTeTHAER &1 feld T feld 3a% &I o FIc/

Except answer-book, no extra sheet will be given. Write to
the point and do not strike the written answer.

o GG YT el v g9 T GT HIeF o1&

Candidates must write their Roll Number on the question
paper.

o FYIT gl FT IR a7 & 9 Fg GlARTT F & 3 geT9d qof
g Tl &, qOaT 3 IWIT 39 G9€ H FiF 31 grar e TgT fFar
oATeIT/

Before answering the questions, ensure that you have been
supplied the correct and complete question paper, no claim

in this regard, will be entertained after examination.

AT fAger:
(i) T goaT fAard &
(ii) FEgless gos1 & &gl fabey fo1dd]
(ifi) T2F FoT & 3P I HiHA T T &
General Instructions.
(1) All questions are compulsory.

(ir) Write the correct option in objective type questions.
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(i) Marks of each question are indicated against it.

1. What is unit of cryoscopic constant? 1
a) kg K'mol
b) K kg mol

K kg mol

O
SN S NS

2. What happens to conductivity upon dilution of solution of a
strong electrolyte? 1
a) decreases
b) increases
C) remains same

d) may increase or decrease.

T Yool JeGAINTECT & [orTel & Tl T TTelehcl T &0
HTT gl 87

a) g¢ Sl §

b) §¢ ST &

c) T&T Tl &

d) §¢ 7 T Thdl ¢

3. Which of the following is a secondary cell? 1
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a) Leclanche cell

b) Mercury cell
c) Fuel cell

d

Aff@a & @ FHiaar e TIs ad g2

)
)
)
)

Nickel-Cadmium cell

4. Which of the following is not a lanthanoid? 1
a) Thorium
b) Lutetium
c) Terbium
d) Europium

rafef@a &7 3 i v JAargE a8 £2

Q

¥

)

) *ICIR

c) efeze

d) JUaIH

5. How many nitrogen atoms can make a coordination bond in
EDTA ion? 1
a)0

b) 2

(¢
A~ W

)
)
d)
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$SIU (EDTA) 3 & fhdel ASEIS WA 3UHgHAST
3T T Tohd g2

[8))

O

)
)
c)
d) 4
6. Which of the following is dihydroxy derivative of benzene?
1

a) Catechol
b) Resorcinol

c) Quinol

)
)
)
d) All of the above

fAefaf@d & & $ia a1 doolleT &1 sEersgiedl egcdes 872

Q

ECarc
ﬁ'\qﬁmﬁ

O

)
)
c) TeFaetrer
d) 3T Tefr
7. What is the name of the reaction in which toluene is treated
with chromyl chloride to produce benzaldehyde? 1
a) Etard reaction
b) Stephen reaction

d

c) Cannizzaro reaction
) Gatterman reaction
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3H TATHAT &1 A1H F471 § [0 efgel H HITAT FRSS &
1Y 3UAIRA Ik Sool (088188 Pl 3cUlGe] [haT SATdT g7

8. What is Fehling solution B? 1
a) Ammonical silver nitrate
b) Alkaline sodium potassium tartarate
c) Aqueous copper sulphate
)

d) Acidified potassium permanganate

Hiolr Ao B &1 87

JAfATHT eax Asce
b) &R AIfsTd diefs e

~

9. Which of the following is most soluble in water? 1
a) Dimethylamine
b) Trimethylamine
c) Methylamine
d)

afef@a 7 @ &i9 a1 3o & g9 3%« Ao g2

Aniline

b) TEATTHA
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c) AfYetH =T

d) UfeTellsr
10. What is Hinsberg’s reagent? 1
a) CgHsSO.Cl
b) CH3SO.Cl
c) CgHsCH,SO,CI
d)

feeaee HiAFAS a1 872

None of the above

a) Ce¢HsSO,CI

b) CH3;SO,CI

c) Ce¢HsCH,SO,CI

d) 394w H & &I AgT

11. Which of the following is an essential amino acid? 1
a) Glycine

b) Lysine
c) Alanine

d
afaf@a 7 @ i9ar s 39T VAT 31+ 872

) TSI
VGIESIG
c) VelrfaleT
d) 9relteT

12. Deficiency of which vitamin causes cheilosis? 1

)
)
)
)

Proline

[8))

a) Vitamin B;
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b) Vitamin B,
c) Vitamin Bg

d) Vitamin B
fra faarfas & e @ Hrenfaa giar g2

a) faarfasr B,

b) faerf@sT B,

c) faerfasT Bg

d) faerfdAsT By,
13. Thyroxine is an iodinated derivative of which amino acid?
1

a) Tryptophan
b) Tyrosine

c) Histidine

)
)
)
d) Lysine

YRR TEe fohd VAT 3l &1 Teh RS b agcUoet 7

:

[8))

~

11

)
)
c)
d)
14. Double strand helix structure of DNA is its = structure.
1
a) Primary
b) Secondary
c) Tertiary
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d) Quaternary

DNA &I gfashseell a3ae 58 T gl

D RIBIGED
b) gfadae
)

C

d) TTsH

S

c

15. The question below consists of two statements: Assertion (A)
and Reason (R), answer the question by selecting the

appropriate option given below. 1

Assertion (A): Testosterone is the major sex hormone

produced in males.

Reason (R): Testosterone participates in the control of

menstrual cycle.

a) Both A and R are true, and R is the correct explanation
of A.

b) Both A and R are true, and R is not the correct explanation
of A.

c) A is true but R is false.

d) A is false but R is true.

Tafaf@a 99 & g T & 31FFAT (A) 3R FROT (R), 927
& & & AT 3G fdhed d The wc‘lg@sd{aﬁﬂfl
AP (A): TEEERTA TSt 7 3eurfed giq@ i grAf gl
HROT (R): TEAEERTT Wi & fAgaor & efier gar g
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a) A d R gldl T § 9T R, A &I Tgr <ar@an gl

b) AT R Gl AT § dUT R, A FI Tgr I@AT =Taf gl
c) A BT § W R 30 ¢l

d) A 3T § W R &7 Bl

16. The question below consists of two statements: Assertion (A)
and Reason (R), answer the question by selecting the

appropriate option given below. 1

Assertion (A): Reaction of propene with HCI vyields

Chloropropane as major product.

Reason (R): Addition of HCI to propene follows Markonikov’s

rule.

a) Both A and R are true, and R is the correct explanation
of A.

b) Both A and R are true, and R is not the correct explanation
of A.

c) A is true but R is false.

d) A is false but R is true.

Tafaf@a 99 & g T & 3IFPAT (A) 3R FROT (R), 927
& & & AT 3G fahed & The wc‘lg@sd{aﬁﬂfl

HARYA (A): HCI & a1y Wiy 1 IfATHAT FARWINT w1 goqe

3G & §T9 H 3o Hidl 2l

SROT (R): Wil & HCI &7 ISl AThleihl® & & T grele
T Bl
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a) A d R gldl T § 9T R, A &I Tgr <ar@an gl

b) AT R Gl AT § dUT R, A FI Tgr I@AT =Taf gl
c) A BT § W R 30 ¢l

d) A 3T § W R &7 Bl

17. The question below consists of two statements: Assertion (A)
and Reason (R), answer the question by selecting the

appropriate option given below. 1

Assertion (A): Unit of rate constant for a radioactive decay is
time™.
Reason (R): Radioactive decay is a pseudo first order reaction.

a) Both A and R are true, and R is the correct explanation
of A.

b) Both A and R are true, and R is not the correct explanation
of A.

c) A is true but R is false.

d) A is false but R is true.

fAafoad wea & af U g JAFPUA (A) 3R SROT (R), T8
& & & 1T U fahed &1 TFA A g 3 aifaw|

TRFPYA (A): T AMADT &T & ToIT a9 [ESH FT S5

Tag g

FROT (R): ATAFIT &7 Toh SeH 94 e AfAfRar g
a) A d R gldl T § 9T R, A &I Tgr <ar@an gl

b) AT R Gl AT § dUT R, A FI Tgr I@AT =Tef gl
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c) A T § W R 38T Bl
d) A 38T § W R ¥ ¢l

18. The question below consists of two statements: Assertion (A)
and Reason (R), answer the question by selecting the

appropriate option given below. 1
Assertion (A): Air is an ideal solution.

Reason (R): The solutions which obey Raoult’s law over the

entire range of concentration are known as ideal solutions.

a) Both A and R are true, and R is the correct explanation
of A.

b) Both A and R are true, and R is not the correct explanation
of A.

c) A is true but R is false.

d) A is false but R is true.

fFafaf@a wead & e Faa & JFFAF (A) 3R FROT (R), 927
& A & T IugFT fasheq 1 TI A §U W AT

HffFYT (A): aY T e e B
$ROT (R): 9 TderdeT St @ Figdisil W U3ec & HAIA & arelel

T &, 3¢ 3T [T & ® & FT AT gl

A @R ad I § duT R, A &I I8 <@ g

a)A @R gl T § dUT R, A fr @gr =ar@ar Agr gl
b) A I § W R 38T &
c) A 38T § W R &7 ¢l
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19. Actinoid contraction is greater from element to element than
lanthanoid contraction. Why? 2
AT AT HT Jolell H UH ded ¥ qEY dcd I d
wfFeATIs e Ao g ¥

20.What are alloys? Name an important alloy which contains

some of the lanthanoid metals. 2

fAsTqU @ar 87 Ue Hgcaq! RASIg F1 AW dase SEd 3o
edeits aTqe et ¥
Or
3gdar

Calculate the ‘spin only’ magnetic moment of M?* (aq) ion (Z
= 27). 2
M*(aq) 3T (Z = 27) & T ‘YRIUI-ATT Ieehrd 3EuT
AUTAT HITAT

21.Which of the 3d series of the transition metals exhibits the
largest number of oxidation states and why? 2
ThAUT dcdl &t 3d A0l T HiA AT dcd F57 TE&AT H JHTFHIRIOT
HIEYTT GTdT § 3R =412

22.Draw the structures of optical isomers of [Co(en)s]*". 2
[Co(en)s]*" & JerTId FATGIal HI AT FoI3U|

23. Write IUPAC name of the following compounds: 2
fAFAfaf@a ifaent & IUPAC &1H faf@T:
) (CHs)sN

i)  CeHsNHCHS
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24. Write chemical reaction of aniline with benzoyl chloride and
write the name of the product obtained. 2
el I Seolidd FARISS o AT AT fAfhar fod vg

3ol 3cUll & A1H faf@u|
25. What type of bonding help in stabilising the a-helix structure

of proteins? 2
WA T a-glodrd TTAT & TARNEUT H ST F T HgIh
gld &7
Or
3gdar

Differentiate between globular and fibrous proteins. 2
WER AR MiceR W& & [aafea S

26.A solution of Ni(NO3), is electrolysed between platinum
electrodes using a current of 5 amperes for 20 minutes. What
mass of Ni is deposited at the cathode? 3
Ni(NO3), & Teh [derded &7 Telfeadd Selaclst & &g 5 VAR Hr
URT Fafed $d §C 20 fAsic o faggd 3raee fwar s@m Ni
T fohcdell ATT FHUTS W AT gref?

27.Derive an integrated rate equation for a first-order reaction.

3

UA-HIfE Hr Th HRHAT & AU v GATRIT A9 FHAFROT FH
ool PAT

28. A first order reaction takes 40 min for 30% decomposition.

Calculate ty. 3
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Tk JUA-HIfC T AR & 30% ST g & 40 AT era
g1 typ T IO RIFSTY

Or

3gar
The rate of a reaction quadruples when the temperature
changes from 293 K to 313 K. Calculate the energy of
activation of the reaction assuming that it does not change
with temperature. 3
a9 & 293 K & 313 K T gefd %l R ol ifafshar & aer
4 [T @Y ST g1 39 fAfRar & fow afshgor Fet i v Ig
Wg’@@ﬁfﬁfﬁ?w*l AT a9 & iy gRkafdd g0 giar &l

29. Arrange the following compounds in increasing order of their

property as indicated: 3

fPreafafd AfFw & 378 G5 Re v qerest & sed F

H cgaffyd SIfaIv:

i) Acetaldehyde, Acetone, Di-tert-butyl ketone, Methyl tert-
butyl ketone (reactivity towards HCN)

JAlge-sgfeahicls (HCN & gid ifarfshameiierdn)

i)  CH3;CH,CH(Br)COOH, CH3;CH(Br)CH,COOH,
(CH3),CHCOOH, CH3CH,CH,COOH (acid strength)
CH3;CH,CH(Br)COOH, CH3;CH(Br)CH,COOH,
(CH3),CHCOOH, CH3;CH,CH,COOH (3l & Tmazy &
A H)
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iii) Benzoic acid, 4-Nitrobenzoic acid, 3,4-Dinitrobenzoic

acid, 4-Methoxybenzoic acid (acid strength)

dogilgeh 3Fdl, 4-sScldeallssh 3Fd, 3,4-33aIscideollssh

3, A-AUTFHETAISH 3Tl (3Feldl & AHLT & hel )

30. Describe aldol condensation. 3
Ueslel Hbelel I U ISV
Or
Jgar

Give simple chemical tests to distinguish between the following
pairs of compounds:
fefafd dfE e § e & & e @ el
gdietont &1 &S
i) Propanal and Propanone
YIdstel U9 GIedlel
ii)  Benzoic acid and Ethyl benzoate
deoligeh 3Fd UF Uldadeaiive
iii) Benzaldehyde and Acetophenone
deoifesgrss T THIeIhiT

31.Read the passage given below and answer the following

guestions:

rd feu arv e @t ud AR fAeafaf@a gt & 39w &

Products of electrolysis depend on the nature of material being
electrolysed and the type of electrodes being used. If the
electrode is inert (e.g., platinum or gold), it does not participate

in the chemical reaction and acts only as source or sink for
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electrons. On the other hand, if the electrode is reactive, it
participates in the electrode reaction. Thus, the products of
electrolysis may be different for reactive and inert electrodes.
The products of electrolysis depend on the different oxidising
and reducing species present in the electrolytic cell and their

standard electrode potentials.

deTECH & 37Ul IUEfEd Bl dlel Yerdl s raEdr qur
ggFd FociEl & YeR W AR #a € IR seads AR @
(3ST8X0T & forw Pt 377@r Au) o Ig 3ifRfhar & Rear g odr
S 7g ae ST & EAG AT R B P T ¥l g@d
AR I Selercls HTATHARMS &1 T Tg Selareis ITATHAT # fgear
Jar g1 38 yer 3fAfearia wd ek sdweasl & fov
dCITEUCH & 3cUG -3l & Hebdl ol deIavEes &
3c1g degddvucsl ol #H 3ufeyd faffiew sifeders wd
A TARMST U9 3% AS Sodeis fasal W AR & £

i) What is electrolysis? 1
degd3TEcs FT §7?
i)  What is an electrochemical cell? 1
dega TEERE A w47 §?
Or
3gdar

How can you convert an electrochemical cell to an

electrolytic cell? 1
Y T degd TEEIAS Al H deFd3Tecsl o H
d6ol Thd 87
17
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iii)  Write the products of electrolysis of molten NaCl. 1
IfIT NaCl & degd3iaee & 3cule faf@u|
iv)  Write one use of electrolysis. 1

degd3aes & Teh 3ueT ford|

32.Read the passage given below and answer the following
questions:
A feU v e A u¢ IR AFAfaf@d veat & 39X &
To explain bonding in coordination compounds various
theories were proposed. One of the important theories was
valence bond theory. According to that, the central metal ion
in the complex makes available a number of empty orbitals
for the formation of coordination bonds with suitable ligands.
The appropriate atomic orbitals of the metal hybridise to give
a set of equivalent orbitals of definite geometry. The d-orbitals
involved in the hybridisation may be either inner d-orbitals i.e.,
(n-1)d or outer d-orbitals i.e., nd. For example, CO* forms
both inner orbital and outer orbital complexes, with ammonia
it forms [Co(NHs)]* and with fluorine it forms
[CoFe]> complex ion.
3YHgHANST At H TS AT Jhid A FASTA & AT 3eieh
Y& QU AT F| U HAgeaqUT YA FoTehell 3w FAewid
I FHF HJAR Thd H Foald WAVYIFA 39 fovas @
3T TE Folld & ToIT 36e RaFd H&Teh 3Tclet Fldl
¢l 38 AN HP H hoold WAYITA T FETRl BN
HPRA eh ARIT SAMATT & HHABET Hefehl &l FHead el
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T g TROT H 1A d-FeTeh a1 ar ATdRe d-FHeTeh 37T (n-
1)d &7 IT ST d-heTeh AT nd FH&Th & Tohd gl 3GIEI0T &
forw, CO™ ail 3aRe Hefh Td ST FaTeh Hpol ol g,
AT & WU TE  [Co(NHa)e" TuT wo3ilid & @1y
[CoF¢]* @ehel 3 SaAleT g

i)

Which of the above-mentioned complexes is inner orbital
complex? 1
39ded Thell A A AR Hefeh Hepel dieT AT &2

Which type of hybridisation is found in [Co(NHs)e]** ?

’
[Co(NH3)g]*" & fhT YR &I HSHOT 91T ST 87
What is magnetic nature of [CoFg]> ? 1
[CoF¢]> @l Yaehia cgagRk & &7
What is geometry of [CoFg¢]* ? 1
[CoFe]* &r SafAfa #ar §2
Or
Jgdar

How many unpaired electrons are present in central atom
of [Co(NH3)e]*" ? 1
[Co(NH3)e]*" & eI WRATI] H fehclel ITgaTield Selerciol 67

33. Write five examples of electrophilic substitution of haloarenes.

5
AN Fr SolFeleré gfaeuds 3fAfhar & dra 3ereiu
faf@T|
Or
19
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3gar
Accomplish the following conversions: 3}
o aRaaa fasafea Hife:
i) Ethanol to ethyl fluoride
vt TR F3NEs
i) Bromomethane to propanone

SIATAYST I SdelleT
iii) But-1-ene to but-2-ene
Sge-1-5e1 § sYg-2-51

iv)  Aniline to chlorobenzene

UfeTelled 8 FolRIdesiled
v)  Chloroethane to butane
FARICHT & S
34. Name the reagents used in the following reactions: 3

frrfaf@a fAfhanst & 9 ASHART & 71 AT

i) Oxidation of a primary alcohol to carboxylic acid
WTAfAE Uohlgled I FHIefiFaiodh 3Fe H HTFarIor

ii)  Oxidation of a primary alcohol to aldehyde
A Uehigicd ol Ufesgss & 3iTedieior

iii)  Bromination of phenol to 2,4,6-tribromophenol
BTl T 2,4,6-CBSIATDIATT H slATTT

iv)  Benzyl alcohol to benzoic acid

el Vedlgidl & deoligeh 37Fd
v)  Dehydration of propan-2-ol to propene
PIA-2-31Td T AT H fSoree
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Or
Ydar

Explain with example: 3

3ETeY0T gigd SUT&AT Y

i) Kolbe’s reaction
hled HTATHAT
i) Reimer-Tiemann reaction
TSAT-EHT JTATHar
35.What is a colligative property? Which colligative property is
considered the best to determine the molar mass of solute?
Give at least three reasons to support your answer. 5
IUTHET T T 8?7 a0 & AleR gedd e H Ui aee
& foT T A1 UMECT JUTUH HEA ITOT AT ST §? 39
3R & AN H FH H FH died HROT ford|
Or
Jygar

What are azeotropes? Explain its types with example. )

TEaareit a7 §7 3¢EI0T & 1Y 5% YhRi ol TAse Hifoiv|
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